OO <ERERAEMIT XDEZRDHE> No.2 OO
[1] a=—2.b=3 DLE. ROADEZRDH K,

(1) —38a?+b = —3x(—2)?43 = —3x4+43 = —124+3 = —9
OTAF AN (BOH) 1T ( )IZANTHALR! ( —9 )
2 —4a —4x(=2) 8
(2) 6ab=(—3ab?) = 26 a a' k' x _ “%a _ —4xtm2) 8
2 2° + - 81 a1l k1b b 3 3

ORHMDKIT 6% (—2)2x3+ ERATEEHAENKRE ! (@@ XEFTHEICLTHLRALES D

8
( S )
(8) 3(—2a+3b)—2(2b—5a)
—6a+9b—4b+10a = —6a+10a+9b—4b = 4a+5b
= 4%x(—2)+5%x3 = —8+15 = 7 ( 7 )
3 — 18ab 2bk1 2
(4) —3abx2b%?=(—32p) = X X = 4ab? = 4x(—2)x3?
2 1 1 - 81k
= 4x(—2)Xx9 = —72 ( —72 )

Olt2bs—24. ( IITARTHRALTHR !
[2] x=[+2.y=[s—2 DLE. ROXDEERD L,
(D) 2x%—4x = 2x(x —2)xmasmirs: = 2([s+2)(s+2—2) = 2([s+2) X [s
= 2[s([s+2) = 2[x[s +2[sx2 = 10+4s
[BIfE] 2x°—4x = 2([s+2)°—4([s+2) = 2{( [5)?+ 2x2%x s +2°}—4[s —8
= 2(6+4fs +4)—4s —8 = 10+8[s +8—4[s —8 = 10+4[s X4[s+10THLOK,

CHBDESIZ, RELEMETEOFERALTERVHE, LEYERLTHLDES>HENE?  ( 1 O+4J§ )
(2) x2—10x+25 = (x—5)° XEHHRILEL! = ([s+2-5)% = ([s—3)*
= ( [5)?—2%x3x%x[s +3° = 5—6Js +9 = —6s +14 %14—6Js T% OK,
(BIRIREER LT ZOEFRALTERINTE  UTEAX) ( —6[s +14 )
@) ye+ay+4a = (y+2)° xIRgHMRILEE! = (—24+2)° = ( :)* = 5

O ! BAORICZOFERATLYL. REEHLTHSRALEIEIHRIMISRIBRHTT(ZV )
( 5 )
@ x*—y? = (x+y)(x—y)xrmEmsm ={(s+2)+(s—2)H(s+2)—([s—2)}
= (st2+[s—2)(s+2—[s+2) = 2[s x4 = 8s
(BIEIREZHET UTRAX) 1 SCOHSER! ! ( 8 )

(B) (x+y)2—(x?+y? = x*+2xy+y?—x?—y? = 2xy
REBETHE | LVAT>EYLERI 51 D
= 2([s+2)(s—2) = 2{( [5)*—2* } = 2(6—4) = 2x1 = 2
OINb. EDFEEFRATIENBYKRERLITHZDT, RERWICEET ZOHETTH(“0Mb
( 2 )
XFROFHROHE. BEHMR. KAOLA L OO SETULE OO BAERALEAL. ZOSBOHEHEEE | !
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